Efficiency vs dr

o 0.05—-
4 F |
9.045F- -

o LB
= F[—— V00O CMSSW_X_Y_Z__allNODNNZ
© | —— DQM ~V0001~RO0000000T—Global —CMSSW_X_Y_Z__all2
14 [ | — D8M V0001~R000000001_Global _CMSSW_X_Y_Z_all75
1 [ ——_ DQM_V0001_R000000001 _Global _CMSSW_X_v_Z_all7
09:- : : m;: || HNH" I ||
107° 1072 10

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

50.02
o
9.018
d.016
(]
®.014
=
%.012
0.0
0.008
0.006
0.004
0.002

&
i

.......................

1.0

Ratio

A
r
i
i
2,
r

o
w
o
N
o
[$2]
o
[
o
~
o

0.95 30

Pileup



	Contents
	Page 1


